/x 9 A7]=7?

D 25° Q) 24°

3 23°

@ 929°

B 21°



e 84 F AA
PA, PB & €99 HAol1
(AQB = 75° 4 ©f, /APB
o] 3717

@D 30° @ 40° A 50° @ 60° B 70°



O AL W, ax + 2y =

<!

*e?

40"

70

® 110 ® 115 @ 120 G 125

@ 105



4. g IHoA PA,PB 7 A C
o u, LAQB 9] A27|=?

50°

D 65° ® 60° B 55° @ 45° B 40°



5.

the Lol A LTPB = ( yeol 2
71=? (&, /BTD = 60° o] H T =
Aot

D 21 ® 23 B 25




6. o= 2" A 10 40 o HAL o, 2x o] 2717

@D 50° ® 53° 3 55° @ 57° ®B 59°



7. o 2ol PB.PC 7H 9 0 o 4 o, x 9] 2718 Falolat,

(D



otul o
=2 R

—

PB, PC 7} 2 o, zx 9] 372

—

3} 2ol 90 o 1A

©°
=

=

8.

o|J
bSS

@ 56° ® 57° @ 58° ® 59°

@D 55°



the 2o A PT = Q0 9 HAol11 AC = 9 0 9] A]Eo|th,
BP =BC ¥ o, /CBT ¢] Z7]& 35tz (2, A B &= F™olth)




10. o2 2oA x & A71=7 (H, /A =
3600] X—] P 7(4;(—10]1:]—) C
@ 36° @ 63° ® 48°

@ 56° ® 65° >
36




11. o2 I"8A F 92 F H ¢, D oA w3, (EFC =
70°, /BAD =95° & W], zx ©] A7]=?

@D 20° ® 925° B 30° @ 35° B 40°



12. ot 2do)A X PQ & F Yol BAo Fetrt. PBQ = 112° Y
o, /PAQ °] 27]E?

@D 60° @ 64° 3 68° @ 1792° B 76°



13.

(DTC =55°<L o, zx, 2y
g Fspoier,

aﬂizxzi
a’g:w:f




14.

sholat,

al:l" o
= -




15. o= 2"M A4 PQ 7H O o HA
o]1 H{ B7F Y o, LAOC ¢ A7|&
F-stoet.




16. the 1@ Zo] ke & el

Wb H€ 22 A,B,C.D 1




17. oL 23 o A /BCA =
50°, /CAP = 40°, /APT’ = 60°
o|x A4 TT” o] AL W, zx - 2y
ol 3715 Fstojzh (b @Y=

e

T

7



18. kg 2ol M 214 1 o] o] FAolL LABE = 70° U W, 2y - L
o] gre Fatelet.




19. e J™oA A AT = ¥ 0 9 HAo)1, /BAC = 65°, /CAT =
35° & off, zx &) 27]& Hotoi=t




20. o2 2o A AT = 9 0 o HAol A & 1 FHolth
(x4 Ly O] k& Fohd?

@D 140° @) 148° B 152° @® 160° 3B 164°



21. o= 29olA A AT 71 9 0 o AL, 2x + 2y o = 5}
ofzt.




22. o2 I™oA TA 7} 9o HAY uff, ,CBA 9] 27]=?

@ 30° @ 32° 3@ 40° @ 56° ® 62°



23. oS 1gel4 A4 BE, DF = 9 0 9 gAY o, sy o] 27]2
e

@D 60° @ 63° 3) 65° @ @8° 3B 70°



24. o 193 Zo] 9 O = 2ABC
o ¢]A3stal, ADEF o W3t}
(D = 50°, (E = 70° 4 u,
2/BAC + /ABEE 5}o]a},




25. oS 2FA A AL 0 Y HHoln
(BAT = 52° oJth. zx -2y = ( )°
oA ( ) ol g2 gr2?

@D 50 ® 51 3 52 @ 53 B 54



26. T I-oA A4 BT = €Y 0 9 FAolx,
/N N N
5.0ptAB : 5.0ptBC : 5.0ptCA =2:3:4 ¢
o, x +y o] g7

AN

B

@D 110° ® 100° B 95° @ 90° (B) 85°



27. ©he Theld A P & 99 HAY w,
x 0] gL Fatele (%, el Aeket
o)




28. o ™A x+ 2y o 2710

® 95° @ 105° @ 115°

@ 120° ® 130°




29.

e HollA A4 1

BC7HF 40,0 9

Lx— Ly & 2717

23 A

5530

=
=
a

%

OE}.

/TAB = 65°,

@D 0° @ 5°

20 o Falolt,
(T/AC =75° Y o,

3B 20°



30. 3 IHA A 12 H A E HHEO=E o= ¥ 0 9 HAo|th
BC7FF 9 0,0 9 ZEJo|X /TAB = 60°, /T'AC = 80° &
o), /x — 2y + 2z & 27| & Folodzt,




31. o2 INA F ol A T oA A= Hstal /BAT = 75°, .CDT =
55° A o, ,CTD 9] 27|72

@D 45° @ 50° 3 55° @ 65° B 75°



32. ohe 24 A4 AT = 9 0 o 4
Ix, 2y © RS 77t Tlelat.




33.

24 0O oA £CDB = 40°, /BAT =
60°°] 11 A AT7]- zq/\—] 01 [q]

Lty=(  )oolth ol
() ool gEe 58 Totof
e,

DET X\
A



34. b2 1%} o] oABCD 7€ O i
A3t CT 74 09 A9 o, /DCT
o] 2717
@ 40° @ 50° ® 60°
@ 70° ® 80°




35.

o 1} go
W@ TT o
(APBY F7|&
L Attt

] bABCP 7} ¢ O 9]
ol 4o HAY o,
Totolet. (o, T




36. t=2 LA HHA, C, A HoAM HA m, 15 T8 Aot
¢x, Ly O] fh& WEEA A2 2 A2?
! m

@ /x = 84°, 1y = 34° @ /x = 85° 1y = 34°
® /x=85° sy =35° @ /x = 86° Ly = 35°

® /x = 86° Ly = 36°



37.

o= 2R A4 PQ =
14/\-]0] 1, ;{-1 Th = o_]g]

LCTQ =70°, /BCD = 120°
=715 Fstedzt

a o /x =
e o= °




38. the 2ol A TT = A P oA Hst
€ F 99 FF< Aol /DAP = 53°,
(CPB =55° 4w, zx, 2y & 7|5 7%
-stefzt.




39. o2 I A TT o] Y09 A
AL, zx 4 2y ©] 2712

@D 50° @ 60° @ 70°
@ 80° ® 90°




40. o= J2™-elA HA 0] ¥ 0 9
AL W, 2y - 2x o F27
@ 40° @ 45°
® 50° @ 55°
® 60°




41. o5 I™-HNA x of 27

D 30° @ 45° 3 50° @ 60° B 65°



42. o3 I"NA 90 9 AF

AB ©] ig4o] 14 1 7} o]

3717} 25° 4 wf, LABT 9] 47| F5lolzt},




43. o "ol x o] 271 & Fstoie)




44. g TRONA /x o] 2712 Folole




45. o "ol x o] 2710

@ 20° @ 40° 3 60° @ 80° ® 100°



46. T 2™HONA P =26° Q=29° A ™, /B €] 275 F-3toi=t




47. & 293 2ol 8719 ABCDEF 7} o]
WHe o, A + £C + (E ¢ 27]=2

@® 300° @ 330° ® 360°

@ 450° ® 540°



48.

thg 197} 2o %748 ABCDEF 7}
Aol WA W, x+y+z 9] 3 T3
of 2},



49. t& Y3 Zo] 9748 ABCDE 7F 9 O o WAt A =
80°, /D = 130° ¢ o}, /BOC 9] A27]& F5}oig}.

A E
80°

0 1300D



50.

o3 13 2ol AABC 9
YA Y3 ADEF <] 914
o] Zr& o], LABC 9] A7]

=7

@D 30° @ 35°

B 40°

@ 45°

® 50°



51.

2 0 oA «CDB = 40°, /BAT = 60° °]1L
A AT 7F AL o, 2x+ 2y = ( )°
o|t}. o] o, ( ) QFof] ggke =29

@D 125 ® 130 3 135 @ 140

B 145



52. thg I"HA A4 1o] 9o AL i, «x & 277

@D 50° ® 60° 3 70° @ 80° B 90°



53. tha 1dollA BAP = 60°, £CDP = 65° ©]1L
TEHMoltt. /DPC 9 27]=? (&, P = 3F

@ 55° @ 53° ® 51° @ 49°

B 47°



54.

the I7IA A4 AT 7H 9 0 ) FAHY w, LABD 9 27]%7

@D 60° @ 65° 3 70° @ 175° B 80°



